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PHILOSOPHY

Paper - 11

. Which is Naiyayika’s theory of

truth ?

(A) Shabda pramanyavada

(B) Paratah pramanyavada

(C) Swatah pramanyavada

(D} Shabda apramanyavada

According to Samkhya, which are
the qualities of Tamas ?

{A) Moha, Gurutva, Avarana
(B) Sukha, Prakasha, Laghava

(C) Dukha, Upashtambhakatva,
Pravartakatva

(D) Sukh, Dukh, Moha

Which is Ramanuja’s theory of
error ?

(A) Anyathakhyativada

(B} Asatkhyativada

(C) Satkhyativada

(D) Anirvachniya Khyativada

On which ground purva-mimansa
and Nyaya are agreed on Truth ?

(A) Svatah pramanya
(B} Paratah pramanya
(C} Svatah apramanya
(D) Paratah apramanya

Who is the author of
samkhyakarika ?

(A) Kapila

(B) Gautama

(C} Nagarjuna

(D) Ishvarakrishna

1.
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6.

7‘

8.

9.

10.

Regarding whose existence, the
argument Adrashtatah’is

(A) Cause

(B) Effect

{C) Prakriti
{D) God

‘Bhedanam Parimanat’ is the
argument regarding whom ?

{A) Prakriti
{B) Purusha
(C) God
(D) Self

Which is the non-extended
substance according to Jaina ?

(A} Animate
(B) Inanimate
(C) Time

(D) God

Which type of knowledge is called
by Jaina when a person has direct
access to the present and past
thoughts of others ?

(A} Avadhijnana
(B} Manah-paryayajnana
(C) Kevalajnana

)

(D) Shrutajnana

Who gave the theory of
‘Sharir-Shariri’ relation ?

(A) Shankaracharya
(B) Ramanujacharya
(C) Madhvacharya

(D} Vallabhacharya

6.

10.
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11.

12.

According to the Mandukya
Upanishad

(A) The self is the symbol of
ignorarnce

{B) There is no difference between
the self and not-self

(C} The atman is the enjoyer of
worldly objects

(D) The true self is the
foundation of all existenice
and knowledge

If Charvaka accepts the validity of
perception alone, then which of the
given elements cannot be accepted
by it ?

(A} Earth
(C) Fire

{(B) Water
(D} Ether

13. The Gita ideal of nishkama karma

14.

is a middle path between

{A) Karma and akarma
(B} Jnana and ajnana
(C) Pravritti and nivritti

(D) Egoism and altruism

The main reason for the downfall
of the Charvakas was

(A) Rejection of God

(B) Denial of all human values that
make life worth living

(C) Denial of soul

(D) Rejection of vedic authority
and Brahmin priests

11.
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15.

16.

17.

18.

19.

In Buddhism, Janma-marana-
chakra is the name for

(A) Anekantavada

(B) Shunyavada

(C) Pratityasamutpada
(D) Chittavrittinirodha

In the Samkhya system, sattva,
rajas and tamas are the

(A) Constituent elements of
Prakriti

(B) Attributes of Prakriti

(C) Attributes of Purusha

(D) Constituents of Purusha

In the Yoga system, God is

(A) The creator, preserver and
destroyer of the world

(B) He is the giver of the fruits of
actions

(C) He is unlimited and infinite

(D) He is only a special Purusha

Which of the following is NOT
a substances according to the
Vaisheshika ?

{A) Samavaya
(C) Time

(B) Earth
(D) Fire

According to the Nyaya system,
whatever has smoke has fire,
eg. stove, is

(A) Pratyjna
(B) Hetu
(C) Nigamana

)

(D) Udaharana

15.

16.

17.

18.

19.

olge dotii Slotl AUedl ot 1M
U5 ol [ B ?

(A) WASlocdcilE

(B) geaucle

(C) wlcmycuedle

D) RugEAu

HivAE Aol U, YU, AHY
R,

(A) usldow citefla uesl
(B) usldsil o
(C) Y3uelt e
(D) yzueu oitflal uesl

2laesloti S B,

(A) %2cloll AFE ULAS W 46lRS
(B) sismyceidl

(C) HAR A uat Aol

(D) w2 QA Yy

dARA wofuR ollActimtiell s wcat
o9l 7

(A) dUHaUL (B) ysd)

(C) sl (D) 2ula

U2 Edlel AR wRAUL A
YHIS), Rl & wba.

ELcl. 2uLstl’
(A) yldsu
(B} &d

(C) fotolnet
(D) Getet (URBA Ul

8.

sopby -1

T .- -




k*

20. In the Vedanta, “shell-silver” is an

example of

(A} Moksha

(B) Adhyasa

(C) Bhavachakra
(D) Eternality

21. What does dialogue mean, for

22.

23.

Plato ?

(A) Art of thinking on concepts
(B) Art of cultivating morality
(C) Art of perceiving world

(D) Art of writing

In St. Agustine’s theological account
of the problem of evil, evil is defined
as

(A) Absolute
(B) A privation of the good
(C) The highest good

(D) Supreme power

According to David Hume, all
knowledge can be divided into

(A) Matters of fact and relation of
ideas

{B) Matters of fact and spiritual
facts

(C} Spiritual facts and material

facts

(D) Mathematical knowledge and
spiritual knowledge

20.

21.

22.

23.
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24.

25.

26.

27.

Which one of the following
statements hold true for George
Berkeley ?

(A) Primaryqualities and secondary
qualities are inseparable

(B) Primaryand secondary qualities
are inherently present in the
body

(C) Only primary qualities are real
(D) Only secondary qualities are
fictitious

According to Immanuel Kant,
kind of judgements add
to our knowledge.

(A) Analytic judgements

{B) Synthetic-apriori judgements

{C) Aposteriori judgements

(D} Analytic—apriori judgements
belongs to the categories

of relation in Kant’s philosophy.

{(A) Totality

{B) Possibility and necessity

(C) Inherence and subsistence

(D) Necessity and contingency

is of the view that ‘Being is
rational and can be comprehended
meaningfully in thought’.

{A) Martin Heidegger
(B) Immanuel Kant
{C) W. H. Hegel

(D) Benedict Spinoza

24,

25.

26.

27.
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29.

31.

32.

33.

(D) What is attractive

Ontological argument was given
by

(A) Socrates
(C) Anselm

{B) Plato
(D) Aristotle

Who gave the theory of Tabula
Rasa ?

(A) Kant
(C} Hume

(B} Hegel
(D) Locke

What are the criteria of truth in
Descartes’ epistemology ?

(A) Knowledge must be self-evident,
certain and indubitable

(B) Knowledge must be simple and
indistinct
(C) Knowledge must be distinctly

perceived and absolutely
uncertain

(D) Knowledge must be certain
and doubtful as wel

How does Spinoza define modes ?
(A) A way of knowing the world

(B) Affection or modification of
substance

(C} Manifestation of the God

(D) Knowledge of the individual
mind

Who was an Empiristis and idealist
at the same time ?

(A) Locke (B) Berkley
(C) Kant (D) Hume

In Indian ethics, Sreyas refers to
(A) What is likeable

(B) What is worthy

(C) What is other worldly

28.

29.

31.

32.

33.
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34.

35.

36.

37.

38'

Dharma, artha, kama and moksha
are

(A) A combination of material
and spiritual values

{B) All material values
(C) All spiritual values
(D) A moral concepts

In Indian ethics, the principle that
regulates society is

(A) Kama

(B} Moksha
(C) Dharma
(D) Adharma

The unseen merits and demerits of
actions is

(A) rta
{C) Dharma

(B} Atman
(D) Adrsta

in Jainism, the wearing out of
Karmic matter is

{A) Nirjara
(B) Samvara
(C) Trsna

{D) Nirvana

The law of karma

(A) Is the principle of cause and
effect

(B) Is the principle of causation in
the moral sphere

(C) Is the path leading to sense
enjoyment

(D) Is the path of inaction

34.

35.

36.

37.

38.
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39.

40.

41.

42.

43.

The law of Karma implies which of
the following ?

(A) Rebirth
(B) Death
(C) God
(D) Truth

The triratna are the ethical
principles of

(A) Buddhism

B) Jainism

(C} Bhagvad Gita
)

(D) Charvakas

The Sthitaprajna, according to the
Bhagvad Gita, acquires

(A) Material pleasures
(B) Samadhi

(C) Equanimity

(D) Dislike for the world

Which of the following is NOT an
element of ashtanga yoga ?

(A) Dharana
(B) Asana

(C) Pratyahara
(D} Vyavahara

Which of the following is true about
Kant’s postulates of morality ?

(A) They are the forms of the
categorical imperative

(B} They are meaningless
assertions

(C) They change according to
time and place

(D) Without them, morality
would not be meaningful

39.

40.

41.

42.

43.
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44,

45.

46.

47.

According to the principle of

utility, which of the fellowing is

acceptable ?

(A) A student must study because
it is his duty

(B) Belief in God has intrinsic
value

{C) I must earn lot of money
because it will help me to
acquire the pleasures of life

(D) I must speak the truth
because it is right to do so

Ethical statements express likes
and dislikes, is true of

(A) Emotivism
(B) Prescriptivism
(C) Utilitarianism

(D) Egoism

“An eye for an eye and a tooth for
a tooth,” is related to which theory
of punishment ?

(A) Retributive
(B) Deterrent
{C) Causal

(D) Reformative

The purpose of Bentham’s

hedonistic calculus is to

(A) Measure the quality of
pleasures

(B) Present a hierarchy of
pleasures

(C) Quantify pleasure

(D) Prescribe a life of pleasure

44,

45.

46.
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GEA Elcl '~ Bl GlLKct Uostlatl Sl
Rtuic WA A & ?

Aa) ylisiecal

(B) waducel

() sl

D) yuzeuesal

47. ARl Hell YU L€l 5Cet (calculus) ol

&d 8.
(A) Yuoll oatatciial Hinasll

(B) Yulell stiotgat alaalal

(C) Yuioll Avauaiscl ealactal
(D) Yl Waotal aglaalell
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48. Voluntary actions of men can be
judged as

(A) Right and wrong

(B) Personal and impersonal
(C) Sweet and sour

(D) Religious and spiritual

49. The highest good is

(A) Instrumental, leading to
other goods

(B} A bodily good, like food, good
health

(C) A relative good

(D) Not a means to any other
higher good

50. Hedonism is a
(A} Deontological ethical theory
(B) Forms of emotivism
(C) Teleological ethical theory
(D} Theory of natural values

51. When J.S. Mill says, that some
kinds of pleasure are more desirable
and valuable than others, it is an
assertion about

(A) The quantity of pleasures
(B) The nearness of pleasures
(C) The futility of pleasures
(D) The quality of pleasures

52. Eudaemonism is
(A} The ethics of perfectionism
(B) The theory of altruism
(

C) A materialistic world view

(D) A form of spiritualism

48. 1Rl UsEUARd ddetall (el

A3 U k.

(A) ALRL Aol w0

(B) caAldld wal cllsl [[lua
(C) wiel wa Hlst

D) wbls wua 2utaulus

49, ualy 2 A

(A) o A2 YA 131 oallR Alklol

(B) ailRs RAat—Al2A et 3 AR
VARl BH

(C) W& A
(D) we 516 G N2ej Uitlst oldl

50. ywate Wl — 8.

(A) UReur-FlRua dlds Rtuid
(B) dadtale ¥ olclstlale

(€) 3datél alds Rruid
D) secl el Rbrlic

51. o ¥ A Mt 53 B ¥, uys
ysiell Yull ollest Yoll sl oy
gusella wa Herudlel B AR
A ol clct 52 B,

(A) Yutoll Avaiasdl

(B) Yuloll Allucl
(©) Yyuoll Bedsa
D) Yuell ojriadl

52. Fudaemonism’ 3 8.
(A) BAHIYElcte] «{lAaut
(B) UAURARCA Rgic
(

)
C) 3t ol cllldscnel u@oi
(D) wlcHoll uReunt
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54.

S5.

56.

57.

. “Religion is the awakening of

spirituality in man”, was said by
(A} Mimamsa

(B) Buddha

(C) Swami Vivekananda

(D} K.C. Bhattacharya

According to Swami Vivekananda,
which of the following is the watch-
word for Universal Religion ?

{A) Acceptance
{(B) Tolerance
{C) Liberation
(D) Governance

Shantiniketan pattern of education
began with

(A) Vidyasagar

(B) Bankim Chandra Chatterjee
(C) Rabindranath Tagore

(D) Raja Rammohan Roy

Tagore was strongly against

(A) Accepting the reality of the
world

(B) Institutional religion

(C) Universal religion

(D) Belief in god

One caste, one religion, one god, is
the philosophy given by

(A) Mahatma Gandhi

(B) Mahatma Phule

(C) Swami Vivekananda

(D) Narayana Guru

53.

54.

55.

56.

S57.

‘U W HELMHE ALALH FOUSaULR
8. wWH SlAl s8] §7?

(A) H{lxia

(B) Y&

(C) adl @asteie

D) % Hl. egd

il [asteie ez wd@s
wd Hi2o] e YA g B?

(A) gl

(B) uldwycu

(C} A&

(D) caczell

AllQARAE et Yosololl QgL
cucll ol A3 us.

A) [Qawao

(B) oil31 s A2
(C) flesictla 2to0R
(D) =A% AMHgst AL

2R — v @A &,
(A) %tcell it llstaol
(B) dzeusla wal

(C) wdBs ud

(D) UL Hlchell

‘A5 ld, As w, As Fu. 2l
Sloj dcteal & ?

(A) Hetet ALl

(B) HéleHl 5@

(©) il @asteie

(D) eURlaRL 33

s Al




58. Integral yoga is the philosophy of S58. lj\QiE-ﬂOl O\ Q— Qaz 8.
(A) Deen Dayal Upadhyaya (A) Elete2un Guttaual
(B) Sri Aurobindo (B) sl 2:Ace
(C) Dr. B. R. Ambedkar (C) St ofl. . wiRss2
(D) J. Krishnamurthy (D) . sy
59. The technique of ahimsa according 59. HalcHl Ut VlofAlIR EETE
to Mahatma Gandhi is Uald Y
(A} Satyagraha (A) dALLSE
(B} Bhakti (B) A
{C) Prapatti (C) yud
(D) Ashtanga yoga (D) ue(aL AlaL
60. Which of the following is NOT a 60. ?Ltll[%lﬂlﬂ UaqUR, ofl Aottniell 53
characteristic of the absolute, wi[An rlrclvj “aLel odll 7
according to Radhakrishnan ?
T8 1o L (A) At (ds
(A) Spirituality .
(B) Infinity (B) Uetaell
(C) Eternity (C) awrddl
(D) Momentary (D} atee{dug]
61. In the radical humanism of 61. UH. ol ol 5% HlelddlE
M.N. Roy VU2
(A) God is at the centre of all )
things (A) AHIH dxclle] Boa U B
(B) God and the world are (B) 632 U %3 A cllElaa B
identical _
(C) Man is sovereign (€) M Wl HYYell 8
(D) God and man are inseparable (D) SHR ual 1Rt wldeusau B
62. M.N. Roy’s humanist philosophy 62. VM. ol Aol Hiotact€l welony
is D
(A) Materialistic in nature (A) 30 dlAsaudl
(B) Transcendental (B) uRdAll3s
(C) Pantheistic (C) uduRalel
(D) Religious (D) wils
S S




63. According to Frege sense and

reference are two sides of what ?
(A) Fact

(B) State-of-affair
(C) Proposition
(D) Idea

64. According to positivists Pseudo
language’ is
(A) Self-contradictory

(B} True

(C) False

(D) Doubtful

65. According to positivists, truth of
proposition is dependent on

(A) Correspondence theory
(B) Coherence theory
(C) Pragmatic theory
(D) Cartesian theory

66. Analytic propositions are
(A) Aposteriori
(B) False
(C) Apriori
{D) Doubtful

67. According to positivists, which type
of language is meaningless ?

(A) Logical

{B} Mathematical
(C) Hypothetical
(D) Metaphysical

63.

64.

65.

66.

67.

%3 VAR AU Ul dxgyASL A
Sleit O Wl B ?

(A) &8lsd

(B) 22 2§ UK

(C) [Qus

(D) vaue

yYlaal€lull vefl? wUAdld et
aleq,

(A} a-cnutedl

(B) U

(C) U

(D) ASIRUE

yelaal 12l woj @Quistsfl
Ul U WURd B.
(A) Vlotctoll Rgid

(B) Ydlcictoll Rsid

(C) cuaslRellel Rsid

D) sidRa Rgld

[QAus @Quisll ___ 3la 8.
(A) VoAU

(B) A

(C) dogetallzuea

(D) ASRUE

Yl glall o saAL Ysiell
elst A1 (3ot & 7

(A) WEs

B) UBAs

(C) Rgic-seucialsl

D) dec{luiusly

~
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68. According to Moore, subjective

idealism is committing mistake by

considering

(A) Object and its idea as
identical

(B) Object and its truth as final

(C) Subject and object as

different

Subject and object as

opposite

(D)

69. According to Russell, which

70.

71.

among following shows indefinite
description ?

(A) Someone came

(B) Mr. X has come

(C) India’s first President
(D) This fan is off

Early Wittgenstein was promoter

of

(A) Common language

(B) Artificial language

(C) Word cannot express simple
object

(D) Word cannot have apriori

meaning

Who believes that world is NOT a
totality of objects, but it is a totality
of facts ?

(A) Descartes
(B} Socrates

(C} Immanuel Kant

(D) Wittgenstein

68.

69.

70.

T1l.

4R UoAR silciltrs [Qarae

A dga Ely 52 8.

(A} clae wal Aett [Qutzui
clEla2l-Hletal

(B) ol el Aol Ul w3
Hletal

(C} el Aol [Anaal WAL Hisle
silcll 2t [@Auaa A steta

A BoflR ol Aotniell 5
AURA alat & ?

TN GERT]

(B} sllxiet X uical

(C) GlRcdoll YyuH Aguld
(D) L Unl it &

(D)

ydadl @edeetefat ___al uuds
&ell.

(A) ULUREL U

(B) s(u eunt

(C) AoE AL AN A5
sctt atell

(D} aoeat [(A20et w «ell

ANAN claalell AMAAL o2l
ud &5lscllell AMAAL B, AH s
ol 8 ?

(A 3se

(B) W3Elu

(C) B3 U Slo2
(D) [Q2\ceitset




72. Which are two facets of Husserl’s
phenomenology ?

{A) Phenomenal and ethical

(B) Epoche and epistemological
(C) Epoche and reduction

(D) Reduction and inclusion

73. Danda niti means
(A) Art of governance
(B) Principles of religion
(C) Theories of punishment
(D) Theories of morality

74. Which of the following is NOT true
of Kautilya’s views on society ?

{A) he believed in the Vedic
conception of four Varnas

{B) he gave importance to the
ashramas-the four orders of
social life

(C) he gave women a respectable
status in society

{D) his concept of social order
was rigid and conservative

75. Which of the following is NOT an
element of the State in Kautilya ?

(A) King
(B) Queen
(C) Kosha (treasury)
(D) Amatya
76. Kautilya’s Arthashastra mainly
deals with
(A} The arts and crafts

(B} The principles of
mathematics

(C} Art of government

(D) Economics

72.

73.

74.

75.

gudell ylAeuas{lniuen &

Wl U 8§ ?
(A) YQeuatet va slds
(B) AUs il stleta{lmiau

(C) AW ua Rssaat
(D) Rssot AR BosE Aot

sellld ded

(A) clallivetell seu
(B) el Raidl

(C) el Rgidl

D) olAurial Reidt

SRctetl A idell QR w2

ol Aot iell 53 U o12ll ?

(A) QRAL w2 aglletl dZ s vuas
Hlal

(B) Azl ausd — AH(®s W cletail
UR AWSSIB o HEcal U &

(C) AR Aot MMl sty dsell
£l U &

(D) Adell AMRs calcaledl vauE
5812 v (Y B

5Bl uauR ol Aouniell g
RA¥U cect ot2fl ?

(A) A

(B) el

(C) slat

(D) LA

76. SRRIc] AR YrauQ

A dold 8.

(A) sclt AR Slalct
(B) suldllds Rsicl
(C) caaaUstell seu
(D} wgauat




77. Fundamental rights stand for 77. Hoed w@stA____ w2 d.
(A) The foundation of family (A) §30latl BUUR
(B) Regulating religious practices (B) wlls uq-[a ol crazsll

(C) Rights of the capitalist class

C )
(D) Basic rights of citizens which (©) HﬂC{lEﬂ cleil &85l

cannot be taken away by any (D) SlESURL SLAEL GIRL A of ASIA
law aell, slURsletl Hual o551
78. Which of the following is NOT a 78. ol Aotiuigll 53 yod wU[s12
fundamental right ? 8l ?
(A) Right to conversion (A) tHidelel wElsR
(B) Right to freedom (B) Rallcizlell wU@SIR
(C) Right to equality (C) UHlotcdiol wu@s12
(D) Right against exploitation (D) 2lbel AN wlEs2
79. The ideal of Swadeshi intended to | 79. Wt allell BUEIN oA
(A) Encourage the import of foreign (A) eurclla oestul wRtall
goods in the Indian market %lLl{lqto{l vl Yledigel
(B) Encourage people to wear Uy )
Indian traditional clothes (B) clslat etrcllar uRuRold
(C) Make every village a s udal Uleitdet sl
self-supporting unit (C) €35 aunstal felelr wletiaat
(D) To bring village culture to big (D) Hlel 2AdAHL aunstell daslda
cities cladl,
80. Which of the following is a technique | 80. o{l2auHiell 58 uwAsell ugld
of Satyagraha ? £ ?
(A) Violent pI'OtESt (A) [éas u[asle

(B) Use of lies

(B) ol YAl
(C) Fighting for justice in the name

of religion (C) wlell ol o2l HI dASq
(D) Non-cooperation (D) AHUESIR
81. Social justice involves the principle 81. WHBs a1l Rsid
of UHAA BD.
(A) Equity or fairness (A) B mual aseluy

(B) Equality or sameness (B) UMlelcll AgCl o QU{LuLD_l
(C) Discrimination on the basis of

social status (C) ABs Sletotl W Aeeud
(D) Favouring the intelligent D) «lilslell ug 524




82. Social institutions are also called
{A) Socio-cultural organizations
(B) Moral institutions

(C) Industrial units
(D) Man-made associations

83. Which are three major principles
seen in the development of
Feminism ?

(A} Liberal, Social and Radical

(B) Ideal, Social and Spiritual

(C) Liberal, Spiritual and Marxist

(D} Radical, Social and Marxist

84. Which is considered as a pioneer
text of feminism ?

{A) The Second Sex
(B) The Black Woman

(C} A Vindication of the Rights of
Women

(D) The Subjection of Women

85. According to social feminism,
which is the main cause of
exploitation of women ?

(A) Class-division

(B) Religious texts

(C} Biological difference
} Political issues

(D
86. By which name Rawls called his

theory of justice ?

{A) Pure Procedural Justice

(B} Liberal Feminist Justice

(C) Spiritual Justice

(D) Radical Justice

82, WHURs W __ uel sdata .
(A) HUBs-Aiglds ceaa
(B) allds e

(C) A elBls A5
(D) HRRIA clelldd A2L6al

83. olaudlell QsiuHl i Yuy AL
Ycitdl weua 87
(A) GetRallE], UHUBS wal 552
(B) wedl, uulzs v vutaulds
(©) Gelraldl, vutan{dis ua

Hisaael
(D) s¢2, AHUZSs Aol HisAalE]

84, oldlaiee(l Yo WAl aQucl Yacis
56 8 7
A) The Second Sex

(
{(B) The Black Woman
(

C) A Vindication of the Rights of
Women

(D) The Subjection of Women

85. UMIRs audlale vofAUIR, sllflulleil
ARl Yud SIR0L 53 B ?
(A) adl-Qeust
(B) abls ojsll
(C) wilRs @A
(D) Ax3lA wletdl

86, AU Ulcllotl Ul 2idolt Rgic
9 538 7
A) A4s yBaas

(B) GelralEl «tdlalél
(C) deUlds u

(D} 582 ALY
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87.

88.

89.

90.

91.

92.

D)

According to Rawls, basic
problem of Justice is the
problem of distributive justice of
(A} Primary Goods

{(B) Luxurious Goods

(C) Electronic Goods

(D) Psychological Elements

Who said that - Justice is not an
‘ethic of rewards’, but an ‘ethic of
redress’ ?

(A) Plato
(C) Nozick

(B) Aristotle
(D) Rawls

Nozick believes in

(A) Open market system
(B) Welfare State

(C) Welfare Society

(D) Anarchy

Which among the following is
Marx’s theory ?

(A) Theories of Ideas
(B) Phenomenalism
(C) Dialectic materialism
(D) Falsificationism

According to Marx, which are the
two classes in capitalist society ?

(A) Bourgeoise and Proletariat
(B) Individual and Society

(C}) Man and Society

(D) Society and State

Which is the theory of
Multiculturalism that see no
need of change ?

(A) Salad Bowl Theory

(B) Melting Pot theory

(C) Mosaic theory

87.

88.

89.

90.

91.

92.

AU BJUIR, oAlAo{l Yy AHRAL
A el [Actetett «u2iedl

YHRUL B,
(A) yalBs wxlot

(B) detcll et
(C) sAsARAS UHLet
(D) HetRS stotcl

‘2l W YRaslell Reid otell, ua
alAy(dell Rlgid 8. A Ay 58 B

(A) w2l (B) ARl
(©) ABs (D) Aen
AR M Hia D,

(A) well o craral
(B} scURsLE pA»
(C) scuLLstdl ey
(D) WA S

ol Aot gl Hisioll Rgict s B 7
(A) QuR ARl Rgic

(B) uleua{lxia

(C) daleds ellldsaue

(D) wWaRAAYEL

HISA vleguR Hslalél Amustt

Hut @l s2t 8?

(A) sllHd ua slds
(B) 5l wal UMY
(C) HIQA ol UHLY
(D) AUHLY Bal AU

wgHglAateal sl Rsid

uReddetal A@Yct 52 atefl?
(A) qetts — ollBet Rglet

(B) Ao We Reic
(C) HlRs Rgld

Plural theory

(D) et Rgict
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93-

94.

95.

96.

Determine the truth value of the
given proposition :
((pvdv(~qvp)

(A) Tautology

(B) False

{C) Contradiction

(D) Contingent

State the figure and mood of the
given syllogistic argument,

All cricketers are athletes.

Somie cricketers are not swimmers.
- Some swimmers are not athletes.
{A) AOO, First Figure

(B) A01, Second Figure

(Cy AOO, Third Figure

(D) AlQ, Fourth Figure

Which of the following proposition
is the truth value of identical with
the proposition {(p o q) ?

(A) K & ~8) B) (~Kv S)

{C) K& S) (D) (~K=8}

Determine the fallacy of the following
syllogistic argument.

No students are lazy.
Some students are not smart.
Therefore, some smart persons are
not lazy.
(A} Fallacy of exclusive premises
(B) Fallacy of undistributed
middle

(C) Fallacy of illicit major

(D) Fallacy of illicit minor

93.

924.

95.

96.

UL (Atileto] URAALEL wRUA:
(pva)v(~qvp)

(A) dZcusls

(B) AL

(C) w-caulcll

(D) URAAd

UL 3u@c ettt vusld
A Qe il

ot 3323 2uddl? B,

S2cus (3322 dlusl sell.

S Becls dlLsl MR el
(A) A0O, udcll 2usld

(B) AO1, ofle sl

(C) AOO, A% usld

(D) A10, Qell vusld

ol Aotl (Qeuallnigll sau @tlots
URAUHERL (pog)?

A) (K& ~8) (B) (~Kv§)

(C) (K& S) (D) (~K=8)
ol Astt RA3WELs ilAtuetni sl

el YAl B, A «isgl s2A:

sisuet ael 2uny «tell.
hects (QanelRn wud «tell.

Aell, ects AR Al Wy
ot9fl.

(A) calads wwR e £y
(B) el Hrlall £y
(C) rauldsuel €1y

(D) uaufdsusll £y
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97. Find out the middle term from the | 97. o{|Ao AQuUetmiefl Hraue Gl

given syllogistic argument.
All students are intelligent.
Some teachers are intelligent.

.. Some teachers are students.
(A) Student

(B) Teacher
(C) Intelligent
(D} Some

. It is ethical to consider nature as

(A) An instrument or means to an
end

(B} A comfort zone
(C} An end in itself, as intrinsic
(D) Created for enjoyment

. From an ethical point of view,

technology should have a strong
basis of

(A) Money

(B} Public support

(C) Theoretical knowledge
(D) Ethics and moral values

. Which of the following is a crucial
element in a doctor-patient
relationship ?

{A) Patient’s financial condition
(B} Patient’s education
{C}) Confidentiality

(D) Patient and doctor’s religion

i QanelA offgaust B,
seclls Rl oferiet B.

- hecls Qasl QaslA 8.
(A) (Qeuell

(B) Blats

(C) wllSlot

(D) ¥ecus

ysldal  owg s 8.

(A) Ult2ls] ALt VAl 50
(B) M A

(C) Ay, dlddld

(D) dlele H2 ulAG

Alds ghellgell aiAdlswiel
VLR 8.

(A) tot

(B) &2 aHelal

(©) Auilds sust

D) A2t A AAlds Hel

SlseR — £€l dolue] (adus
uRoln 53 8.

(A) €€loll 2ulls RAA

B) e€ldf [Qaw

C) weto{lug

(
(
(D) €€ A Slserell ual




SEAL

Space for Rough Work

F-\,'v

> )




